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1 Oneoftheissuesacompany has to deal with is health and safety in its UK premises.
The main piece of legislation it will have to comply with is the Health and Safety at

Work Act 1974.
a) Explainthe main legal responsibilities of employees when working for a
UK based company. (8 marks)
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b)  Explain how the requirement to reduce risks ‘as far as is reasonably practicable’
affects health and safety in the workplace. (4 marks)

(Total marks 12)

-+ 3 See next page +
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2 Materials used by a company may have to be cut before use.
a)  Name athermal cutting process. (1 mark)

b) Describe how the process namedin a) is carried out. (3 marks)

(Total marks 4)
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3 a) Statefour enablers that can drive the process of innovation. (4 marks)

b)  Explain how innovation in domestic appliances can have a substantial impact
on society. (8 marks)

(Total marks 12)

o+ 5 See next page +
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4 Whendeveloping an innovative product, research and development activities can
have a number of different objectives.

Describe four different objectives that could be met by research and development

and explain theirimportance. (8 marks)

(Total marks 8)
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5 a) Describethe process of pyrolysis. (4 marks)

b)  Explain how the increased use of pyrolysis might affect the environment. (8 marks)

(Total marks 12)

+ 7 See next page +
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6  Thereare many forms of low carbon technology, such as power generation using
renewable energy sources and waste-to-energy systems.

Discuss the influence of different stakeholders on the implementation of low

carbon technologies. (12 marks)

(Total marks 12)
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Additional space
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+ 12 End of examination +



